SHMIEE
FBH6 ARETHE (2)

(B X (H)
I BAHBETDEMER e 1
I —fRLHBETEIRRESTE  ooevereerrrenennne 2
M WETEDOEE e 4
1 1 &R Bf Ex &R






I BLFHMETEREER
(B TH)
Dig %A
ES e B TR W IE %H &t
(7) (T + (N =)
1 % &= 5t (A)
e 51, 659, 984 616, 375 52, 276, 359
(5545)
[E] B R LR IR A Bl = 5t
14, 184, 000 14, 184, 000
2
% e o R R R S R
3,329, 978 3,329, 978
P IR R RS 5T
; 10, 258, 113 10, 258, 113
T K &
A1l ?‘ 1] P 3, 950, 959 3, 950, 959
-
= v
" * 2,259, 871 2,259, 871
1D
e 1% BN 64, 707, 780 64, 707, 780
ﬁ ﬁ%%% b b b b
&t %
" * 74, 665 74, 665
£-3 1D
b 1% PAN
. 17, 953, 825 17, 953, 825
2 7t 1D
¥
" * 1,902, 949 1,902, 949
. 1D
TOERI - ¥R E DR
118, 622, 140 0 118, 622, 140
(1) ~(6) (B)
i (A)+(B)=(C) 170, 282, 124 616, 375 170, 898, 499
= S S« B 6, 906, 818 0 6, 906, 818
" [ B R PR R R Bl = R 1, 641, 356 1, 641, 356
%
%I E R R R S 1, 683, 126 1, 683, 126
I RELRIR R 5 1,615, 507 1, 615, 507
H
TAEFESH 1, 134, 709 1, 134, 709
BT ERE 832, 120 832, 120
4
TR AEFEESEFHREESE 1, 332, 500 0 1, 332, 500
— = E 1, 332, 500 1, 332, 500




0 —RSHMAETE

(%% 4%5) ZHBEFHR

o A (AL - T, %)

ES 5 FERTORE | ML fili 1E %A it AR L

1 Bi 19, 133, 151 37.0 19, 133, 151 36.
2 FE 5 B 273, 201 0.5 273, 201 0.
¥ WO & 28, 800 0.1 28, 800 0.
T T 148, 500 0.3 148, 500 0.
5k X5 R O T A5 B A2 AT 4 186, 500 0.4 186, 500 0.
61 N F E B &AM & 135, 135 0.3 135, 135 0.
THL GO OB OB R A & 3, 000, 000 5.8 3, 000, 000 5.
8 =L 7 % Fl Al Bi A2 1+ & 55, 000 0.1 55, 000 0.
9 H B G B LA & 1 0.0 1 0.
10 88 Bi M me # & AT & 61, 000 0.1 61, 000 0.
1 75 & o 2 & 145, 000 0.3 145, 000 0.
124 5 & B 3, 540, 001 6.8 3, 540, 001 6.
13 A2 38 22 456 SRRy Bl A8 A 4 17, 000 0.0 17, 000 0.
I E A S T G O = W i W 460, 245 0.9 460, 245 0.
158 BB & OV F &k 1,032, 982 2.0 1,032, 982 2.
16 IS N < 10, 028, 755 19. 4 537, 726 10, 566, 481 20.
17 #B B3 H 4 7,639, 832 14.8 78, 649 7,718, 481 14.
18 JiE I A 252, 582 0.5 252, 582 0.
19 % fF 4 55, 000 0.1 55, 000 0.
20 #& N 4 528, 586 1.0 528, 586 1.
21 f& i 4 350, 000 0.7 350, 000 0.
22 F 1] A 2,200, 913 4.3 2,200, 913 4.
23 i & 2, 387, 800 4.6 2, 387, 800 4.
w AN & i 51,659,984  100.0 616, 375 52, 276, 359 100.




o (HEAL - T, %)
ES 5 FERTORE | AL i IE A it i 3pd=a

1% = 2 414, 264 0.8 414, 264 0.8
2 & % % 5, 594, 989 10.8 289 5, 595, 278 10. 7
3R 4 # 25,302, 133 49.0 235, 939 25, 538, 072 48.9
4 f st # 5, 674, 480 11.0 82, 164 5, 756, 644 11.0
5% ) 2 10, 671 0.0 10, 671 0.0
62 H Kk E ¥ & 271,113 0.5 300 271, 413 0.5
7P T # 394, 153 0.8 218, 371 612, 524 1.2
8 1 PN g 3, 204, 245 6.2 40, 134 3, 244, 379 6.2
9 ¥ 3] # 1,790, 372 3.5 26, 907 1,817,279 3.5
10 # =) # 4,979, 832 9.6 21, 285 5,001, 117 9.6
g = # B % 98, 386 0.2 98, 386 0.2
12 A & % 3, 095, 889 6.0 3, 095, 889 5.9
13 § 53 H 4 453, 417 0.9 27, 621 481, 038 0.9
14 ¥ fisi # 376, 040 0.7 A 36,635 339, 405 0.6

W A& 51,659,984  100.0 616, 375 52,276,359  100.0




M #EFEOHE

1

GRS RE ST kSN
—REFHMHETE (F45)
5165, 998KFMH = 5227, 63650 (6{/81, 6 3 8 HFMHDH)

<Ew AN FERbo) >
(1) B JE X H 4 : 583,773 THOE  GIlant oA VABGSE G HD A ERRES RS
(2) & X H 4 7,865 T DO (ATE IR A B 455 1Y)

< H GFEirbto) >
(1) FlaeF oA L AR — B A FEFTEIRFEERE 10 = 1,379 71 (5H)
It — R FIEPTEGE U7 YLBh Lk R B 5 B A Al B
(2) Ffla v F oA L A REERALY — B A FEF SRR ERE 0 0 = 813 1 (EH)
PEEAR ALY — B A TN U7 YL Ph 1L SRS BT 2 & & i
(3) FAlavF UA NVAREMRIT —EAFERE .0 = 1,310 H1 (BHE)
75 P Lo S E A S LORE L EEE ZFR L L HHRFEOEWRITH—E X
(4) ALt 7 —EHESRE 359,165 HH = 4154, 350 5 (5,195 FFHDHE)
I VEOYIE K OTFHEWGEE O o BEKR(L
(5) F=amF A N AR FH CHERRE SRS £ 9,790 51 = 248 9 5H (1{& 219 S OH)
REPFUEZH L, FRBIERDIERPCH Rk LEE 1 Ad72v 5 T A3
(6) FlamF oA A RREITE CEEERE 1,840 T = 3,810 L (1,970 I D)
JERMRE FESZ Fh LT 2 FEFTHHE U7 BBh Ibx RIS E 3 2 8 H 2 #iBhiE o>
(7) AL 380 5 = 4,010 5 (3,630 DY)
AR « R - /NS AREZIRAT DIEYLB) 1Lt R e
(8) FMaTF A NAD I F U ASREFIERE - 5453, 737 HH = 5454, 537 51 (800 5 oDH)
LB IR ET D02 7 o —#EEHE 2Bk
(9) GemEaRRE 7,288 T = 1{&728 T (3,440 M DHY)
B oo 0 A L R BRI A A RE OfkREIC X 5
(10) B = v G0 A )L Ao SR MUBPE S ST 3R - 0 = 148,397 51 (151)
Xy v va LARFIZEDRA » MBILE I OT U I T AMIRa5 R4 51T
HUNMEEREREESEDT O F WA S B % B 2 B
FrEAIEREFEOGN 2521, B2 4 4 ALRRICTTN TRIZE L2 FEHE ~OHih
(11) ¥R = v F A VA REBSEMBIFERE 0 = 3,536 L (HH)
B LWAETERRRUCXHE U7 M REB NS 2 X 2 (F BB E T 5 B H & fiidh
(12) Bz v F 0 A )V A IRAASLONHER L2 - 0 = 480 71 (1#51)
SIHER S 2358 U 72 YB3t SR S B9 2 & F & i)
(13) p ANABAMEREE : 138 J719 = 337 J51 (199 J5 [ DHE)
SRS YN WL N AR v =3 X e v/ 1)
(14) WAERBEEHEERRE : 182,265 71 = 143,477 HM (1,212 HHOH)
T b T U AOAB) RT7EEB LM LVEOTFERWIGIE O o B B)kie b
4



